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And if you say his betrothal — %% X1 w2 PRITP WD PRITP DR ON)
is not a betrothal; how does he have heirs

OVERVIEW

The X3 queried in a case where a 1M1 2 XM 72y X1 was WIpn a P8I N3,
whether the w17p are valid. The X 23 cited a Xn* 02, which stated that if a MW
killed a r"2amyn, half the 01p goes to his (remaining) master and the other half goes
to his heirs. The X3 infers from this that Pw17°p »en7Tp, for if it is not a valid
7R, how can he have heirs. NMd01n analyzes this proof.

nooIN asks:
=IVU9Y N"90 )19 N2 N9 11’\’)1‘1",72 PV AN 99T NN

It is astounding! For why does he associate heirs with 2752, for is not one’s

son from an unmarried woman his heir; noin proves this -
- 52N 199047 9329 111 TR YIDY DN NIYY 533 (3,7 41 mna») VANTI

As 5w ruled regarding ten 291715, where one of them (who remains unknown)
separated himself from the group, and had relations, that child who is from this
relationship, is a SPINW, meaning

- 99 YAN 12T NYT DIUN AN D191 N PPRYNY
That we silence him from the estate of his father, because we do not know who

is father is, however if we would know, the child would inherit, even though there was no
TP (and she is a o) -
- PUYDP 13 5091 NIT D10 1199 133 929N

And even if his son is a 9127 from an incestuous relation where °217°? do not

take effect, nevertheless -
- WY 139170 72T 959 132 NN (x,20 97 TN 2IY PI93 1IN

The mwn taught in the second pa2 of ny23s noon that this 717 is considered his

son for all matters; this means that the son inherits him -
- YIN YN YNNYM MTY 18 SNNRT 990 ¥9) PYITIP N2 02N YN NIM

! The slave can have heirs even if the 1PwI7p are invalid; if he lived with someone and she bore him a child, this
child is his heir regardless if there was 7"217°p or not.

2 spinw (silenced one) is the term used to describe a person whose father is unknown to us. Whenever he refers to
someone as his father, his mother tells him pinw pinw (be quiet); ‘he is not your father’.

? moon is adding that perhaps by the case of the 23713 the 171 could have been w7pn the woman and therefore the son
inherits; however here by the n"amyn we are assuming that there is no Pw17°p, therefore perhaps his son will not
inherit, therefore nMoo1N adds that we see even by a man where 1"w17°p "09n R and nevertheless he inherits, so why
should not the son of the 72y also inherit.

*Ttis preferable for the 72y that Pw17p YW17P TR, for if it were 1w17°P, this woman is married to the 17 72 "¥17 part
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And here by the n"amyn if pP2y7>P would be effective it is even worse for the 72V,

for the 72y part would be in a relationship with an R''R -
= ¢x,mm 97 0v) [NDINNA] 199999NTD
As the X713 states in y9157 Po5.

MooIN answers:
= 199NN TNNN 12 PPN NIN PYITH 92 INDT RPN ONT ©”7YN 9207 999 v»

And one can say that the X923 maintains that if indeed the 1"2myn cannot

perform 121799, his son is not related to him (he is not considered his son and cannot
inherit him) -

- NYYY PYITH DA Y0INT MIYY 39T X
And it is not comparable to incestuous relationships, where 12799 is effective

by these people with people in general (they can marry others, therefore their children

inherit them) -
$INN ONMHN 61:7! PR DIPN DIVA NIN PYITH 93 INDT IND DAN

However this 11"2myn who can never make an effective 12172 anywhere, his
child is not related to him.

SUMMARY
If one is not a w17°P 72 anywhere, his progeny do not inherit him.

THINKING IT OVER
1. What is the reason that if one is not a D1p» 21W2 PW17°P 72 therefore drnn 327 PR
PINR?

2. MDD states that since an 72¥ 1s not a 2P D12 PWI7T°R 72 therefore his son is not
IR o nn. We know however that regarding a "M21 who is also not a PwI7p 72
DIpn 03, and nevertheless his children are 11X Dﬂ”nb,7 and inherit him.® Why is
there a difference between a 731 and the 72v?°

of the 72y, so when the 72y *X17 is with her he is violating the 70X of X"X (since she is not the wife of the 72y °xr).
Therefore it is better that there is no 1"¥17°2 and no 710°X of X"&; however the child inherits as mentioned previously,
> The expression w°X NWK2 WHNWwM N2V TX *NXT is actually brought there on 2,7n.

% See “Thinking it over’.
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? See mwn noma.
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